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HERRMES C )
# & H 2021 4 11 A 148 A A & & X3U—72021
AEBEREZ: 14 B 10 X & i
HERTEZ: 16 BF 59 2 15  BREMBKES T 55 A
F— L% 1Q 2Q 3Q 4Q TOTAL oT B iE
J—RIT4+—rIT—)LX(Y) 7 0 13 26
4 B 0o & 0 &
=ZEIFAT—/N—K (M) 0 0 0 0 0
0 B 4 8 0 H»
Point After Touchdown
F— L% Q 1% 38 B B/BELETLA BHELEEFS EH/Y—K TLANE BRLEFE WY kB
Y 1 5:34 PASS #4 BF-#19 Lk 29 K #3IKE NG
Y 2 3:28 RUSH #22 IUTF 12 K #3IRE G
Y 4 2:47 RUSH #34 J\K 3 K #3IKE NG
Y 4 10:00 RUSH #34 J\K 9 K #3IKE G
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
B  Rsuh=512&BTD. Pass=/SRIZ&BTD. INT=A L 4—tTRE1SE—2L1=TD. PR=/SU k- 1JA—2IZ&kBTD. KOR=F w47 Ja—2 (2 & BTD
2 FUM=D7 T L ORERERIFIFI—2ITEDTD, FG=J4—ILR-T—ILD LI, SAF=t—T 7«
F—L4 IJ—RFIZJ4—hrI—)LR =FI7AT7—/\—F
&t 13 4
5 — R — KA 6 — 6 — 2 — 1 — 1
1 TJ7—ARI Y
3 down TODEE 5 J/ 10 2 J/ 11
4 down TOEF 0 /S 0 0 S 2
— " . R A @® A
2 S EIE — EH/YVY—F 24  — 108 27 - 57
Yds Yds
. . ® @ @) ® @
HiE — B — INT 24  — 10 — 1 10 — 5 — 0
3 INR B B
B IhER EJYVY—F 41.7 % 121 50 % 34
4 W [B] %4 —  EH/YVY—FK 48 — 229 vae 37 — 91 Vas
5 by =i | ( FTHF 40 ) 18:29 21:31
* - = I - —_
A f B a1k BERY—F 5 35 vae 0 0 Vas
B I7oI Bl%% - EEFS 0 - 0 2 - 0
C J4—I)LET—)L B3 — BIh 1 — 0 1 — 0




